A & 0l & A

20229 =& 4 3| JIEESEAH &AM (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28

5 Al 30,458,444 28,899,034 1,559,410 5.40%

ALY 29,192,421 27,506,648 1,685,773 6.13%
HWegs 776,571 904,393 A127,822 A14.13%
HE2HZH 489,452 487,993 1,459 0.30%
getssdd 20,622,164 19,691,260 930,904 4.73%
ANegHd - HAX A 20,622, 164 19,691,260 930,904 4.73%

A2HME 23 20,622, 164 19,691,260 930,904 4.73%
e - 28 AIZdsS 22 (A8 SHSEI N 20,622,164 19,691,260 930,904 4.73%
)

NIE=PN 1,843,784 1,882,340 /38,556 A2.05%
lzdg=2d 1,776,071 1,814,627 38,556 AN2.12%

I=dE & HYAaSES HEXE 1,776,071 1,814,627 38,556 AN2.12%
HNAES 2N FH(A=2S0HII2 L3 A 1,776,071 1,814,627 A 38,556 AN2.12%
)

FAHSXE 67,713 67,713 0 0.00%

Hess (S8 67,713 67,713 0 0.00%
BENE(Yd2)(d=2=0IISSLESAH) 67,713 67,713 0 0.00%

A - SAIHLU X 5,914,353 5,295,175 619,178 11.69%
MHEE - DD} 5,914,353 5,295,175 619,178 11.69%

s3HXA =4 5,227,495 4,480,495 747,000 16.67%
S3SHA ZEMS (sSSP EHL2ACAES 5,227,495 4,480,495 747,000 16.67%
=3l )

Heas(dXel 2 ) 686,858 814,680 N 127,822 A 15.69%
HWEHHXES(sSA2ZLL22MY) (53K 686, 858 814,680 A127,822 A15.69%
TEALSY2ACIMLSELSA)

NSA=SF 1,564,466 1,542,266 22,200 1.44%
Hsns - =25sJIE 1,564,466 1,542,266 22,200 1.44%

A2 BHole nES23 ¥ 1,542,466 1,520,266 22,200 1.46%
Mele Hel 28 (FHESEA) 1,122,466 1,115,266 7,200 0.65%
=S X L (=B SESAH) 420,000 405,000 15,000 3.70%

Heass(usi) 22,000 22,000 0 0.00%
BENES(FLHE)(FUHEESLEA) 22,000 22,000 0 0.00%

=EL TSN 24,225 0 24,225 =35
AL EA 24,225 0 24,225 =35
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